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entity FARITY _2 bll 15
port (D: in BIT_VECTOR(8 downto 0), EVEN: out BIT,
ODD: buffer BIT);
end PARITY_9 BIT;

architecture PARITY _STR of PARITY _9 BIT is
component XOR2
port (A, B in BIT, Z: out BIT);
end component;
component INV2
port (A in BIT, Z: out BIT);
end component;
signal EO, E1, E2, E3, FO, F1, HO: BIT,
begin
AED: XOR2 port map (D({0), D{1), EO);
XE1: XOR2Z port map (D({2), D{3), E1),
XEZ2: XOR2Z port map (D{4), D{5), E2),
AES: XOR2 port map (D(&), D(7), E3);
XF0. XOR2 port map (EO, E1, FO);
AF1. XOR2 port map (E2, E3, F1);
XAHO: XOR2 port map (FO, F1, HO);
A0DD: XOR2 port map (HO, D(8), ODD);
XEVEN: INVZ port map (ODD, EVEN);
end PARITY STR;



